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QUESTION 1

An architecture for the deployment of IBM Maximo Asset Management is being created for a customer. The user
acceptance testing (UAT) and production environments include: 2 user interface (Ul) Java Virtual Machines (JVMs), 1
Maximo Integration Framework (MIF) JVM, and 1 cron JVM each. Why are there separate JVMs for the UAT
environment?

A. A UAT environment always provides an infrastructure supporting the same number of users as a production
environment.

B. A UAT environment with JVM segregation requires separated JVM functions in any environment other than
development.

C. The minimum number of JVMs that must be utilized in any customer UAT environment is: 2 Ul JVMs. 1 MIF JVM,
and 1 cron JVM.

D. A UAT environment allows for the testing of configuration and concepts utilized in the production environment design
in a similar way to how they are actually utilized in production.

Correct Answer: D

QUESTION 2

The Windows firewall must be disabled so the IBM Maximo Asset management V7.5 installation can take which action?
A. create log files

B. update the database

C. run as Administrator

D. update the maximo.properties file

Correct Answer: D

QUESTION 3

What is the correct ordering of logging severity levels from least to most verbose?
A. DEBUG > INFO > ERROR > WARN > FATAL

B. FATAL > WARN > ERROR > DEBUG > INFO

C. FATAL > ERROR > WARN > INFO > DEBUG

D. DEBUG > FATAL > ERROR > WARN > INFO

Correct Answer: C
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QUESTION 4

During an IBM Maximo for Transportation V7.5 installation a message appears saying it cannot be installed. Why?
A. IBM Maximo for Transportation V7.1 has been installed.

B. IBM Maximo for Transportation V7.1 has not been installed.

C. IBM Maximo Asset Management V7.5 has not been installed.

D. IBM Maximo Asset Management V7.1 only has been installed.

Correct Answer: C

QUESTION 5

Which tool can be used to remove Start Center configuration data for a specified set of users?
A. cleanstartcenters

B. refreshstartcenters

C. updatestartcenters

D. removestartcenters

Correct Answer: A
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